Name: Unit 4: Linear Equations

Date: Bell: Homework 2: Slope-Intercept & Standard Form

** This is a 2-page document! **

Directions: Give the equation for each form below.

Slope-Intercept Form Standard Form

Directions: Write the equation of the line with the given slope and y-intercept in slope-intercept form.

)
1. slope = §; y-intercept = -1 2. slope = ﬁ-é; y-intercept = 0 | 3. slope = 1; y-intercept = 8
Directions: Write the equation of the line shown on the graph in slope-intercept form.
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Directions: Convert the following equations from standard form to slope-intercept form.

10.6x + 2y = 10 11. x+ 2y =4




Identify the slope and y-intercept of the line, then graph the equation.
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'_Directions: Determine the equation that best represents the line shown on the graph.
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A. -5x +3y =3 C. 5x+3y=3 A. x—y=-7 C.x-y=7
B. 5x + 3y =-3 D.-5x-3y=-3 B. x+y=-7 D. x+y=7
“D . Write the equation of the line shown on the graph. y
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Equation:
Choose the equation that best fits the line shown on the graph. y q
A, y=2x+1 =
B- y = —Zx + 1 b :
CI y = Zx = 2
D. y=-2x-2 /




‘ [-] x+y=-3

. 2x+3y=-6

H’_ 4x + y = -1

20.5x-2y=14

|
7). 10x -8y =24
|
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QUESTIONS

72, W+ 12y =12

A\ 4

73, What is the slope of the line y = 42

A

24 . What is the slope of the line x = -22

n6. Whatis the slope of the line x =02

2p. Which axis is y = -1 parallel to2

271. Which axis is x = 4 parallel to?
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8. How does the graph of y = 3 differ from y = 3x2 Graph both and
explain.




